Jooooooooooognd

gooo

20020 80 100

1 0Oo0ogd

gbobodoobool1bbooooboooboooboooobooooboooboooobooobooooobooon
gbooooboobooooooboobboooooooboooboooboobooOooooboog
gboooboooboooboooooobooobooobooooooooboooOobooOoooboooonooo
gbooooobooobooboboooobooooboobooobobo

2 00

gboooboooboobooooooboooobooooOoooobooooooboOoobooobog
gbooooboobooobooooboooboooooooboooboobooobooobooooobooooboon
gpooog
gbobooooboooboobooooboooboboooboooooboobooooooobooooDn
gbooobooobooboobooooboobooboboooobooooboobooobooOooooboo
gbooooobooobooooboooboboobooooboooboboobooboooobobooobooboooobooboo
goooobooooboobooooooboobooobooboo0ooOoobboobooooboDooDboOoo
gbooboooboooboooobooooboooobooooboobooboboboobooog
gboooOoooobooooboobobobOobobobooooooooobobobOobonoog
gboboooobooboooooboooobobooooobooboobobooonDg
oboooooooooooobon



00000000000 AABF[] AQOF 0OOOO

BF _AB
OF QO

0000000AAB'F'[J APOF 0000
B'F _A'B
OF ~ PO
0ooooooo

AB = PO, A'B' =QO

sfsjs)ufafaluyufsls
BF AB PO _ OF

OF QO A'B' B'F
00D0000000000000 f OOOODOOOF=O0F =f 000000000
BF x B'F' = f?

00000000000O0O000
000000000000 (=0B)0 000000000000 (=0B )0 y 00O
OO0BF=z-f B'F =y—f 000000000000

(z—flly—f)=r

gboooooooon
gbobooooboooboobooooboooboooboooobooboobooooobooooDn
gboooobooboooooboooobobooooooo

3 OO0

gboobOoooobooooboobooboooooboooscobbogo wooooooooon
gbobooooooboobossoooooooboboobooooboboobobooooboboboooo
goooboobobo loemddbognooooobOob 1000000 0Db0DODOD 100000
gboooboooobooboboooboobooboobooboooooooooboOoooboOooboog
gbooooooboooboobboobooobobooobOoo0oooboooboooboooooooobooOooo
gbooooboooboooo

goooobooooooboobooboooooboooooooobDooboOOooooooDoOoDo
gbooooboooobooooon

3.1 0OOoogooo

ggbgboboobboaoboobuogbogobuoboooboboobon
g



B
———

=

goooOoOo0O0O0O00000oOoOoOOoOoUboOOoOoOoOODOOOO0 A, BOOOOOODOO
ooo

(A=f)B-f=Ff

goooooooooooooOoOoOoOoOOOOOOOOOOOOOOOOO fOOOOO
obobooobobooooboooooooboooooboooonbono 8em OOOOOOOOOOOO
gbooooobo2s00000b0000b0obooooDoon

A =250cm, B =20cm
ooooooo
(250 — f)(20— f) = f%, 0OO0O 5000 —270f =0

Oo00f=1852cm OOOOO
gbooooooooboobooooboobb 6em DOOOOOOOODOOODDOOOOO
gbooooooboooooboooooan

A =260cm, B =10cm
ooooooo
(260 — f)(10— f)=f%, OODOO 2600 —270f =0

o00f=963cm OODOOO
goboooboooooooboooobooooooobooboooboooobooobboooobooooDo

goobooooooooobooooobooooooboo0opB DUODODOOOODOOOODO

gboooobooboobooboboooooboooooboo



3.2 z,y00000O

gobonD 20em DO0000O0Oz,y O0OO0OD0O0DO0DOODODOOOOODOOODOODODO
y .

Weln

20¢m

O
j0od00oo0oo000o0d0Do0oDo0Do0dU0oDOooOoooOoooOooooOoonooOog
00od0oooooooO0ood0Doooooo0oo0oo0ooooooooooooooog
gooooo0obOoO0ooOOooboOobOoO0oboOog 30em DOODOODOODOODOODOODOY O
obo0 30em OOODOOODOODOOO

(z —0.2)(0.3 — 0.2) = 0.22
00O
z=0.6

gboobooog e60em DOOOODOOOOODOOOOODOOODOODOOODOOOOOOOO
0 10em ODOOOOOOOODOOOOOO
Y

10cmp.......... =

10cm
0
y 00000 30cm DODODOODOOODOOOO

(r —0.1)(0.3 —0.1) = 0.12



ood
z=0.15

gobooboobog 1em DOOOODOOOODOOOODOOODOODOOODOODOOOOO
U 20em O0O000COO0OCOO0OO0O0ODOO0OODOOODO 30em ODO0OO0OO0OO0DOOODOOOOOO
60cn OOOD0OOO0ODOOODOCO 100000000D00O0ODO0O0ODOO0O0O 60em ODOODOOOO
oboboboooooooo

(0.6 — 0.1)(y — 0.1) = 0.1%
ooo
z=0.15

gogbgoobobboobooboobod 15em U0OOO0ODO0ODOODOO

3.3 Ougoogooo

g
gboooooboooooboobboobooooooboooobooobooboooboooboooobooo
goooobooooooobooooooboooboooooooooboooooooooobooDboo
gboooobooobooboboooboobooooboooboooboobn

gboog 20en O0OO0OO0OOO0OO0OOO0ODOOOOCOOOOODOODOOOOOOO 30em OO
gboooooooooon

gooooD 10em DOOOO0OO0ODOOO0OOOOOODOODOOOOODOOOODOOOODO
gboooooao
gbooooboooobooobboobooOooooobooboooboobooOoooooboooon
goooobooooboooooooobobooobooboobooooboooobooboobbooo
gbooooobooooboobooooobmooboobooooooobooobobobooboooog
gbooboobooboooobooobooboooo0ooboobooboooooboOooobooag
gbboooooboooooooooobooooooo 1oem ODOOODOOOOOOODOODOOO
goboboooooooboboDb 20em D0ODODOODOOOOOOOODODOOOOOODOO



gbooooobooooboobooobooobooobooboobboobooobooobooooboOoboag
gbooooboooboobooooobooooboooooooobooboooboobobooobooooag
gboooooboboooboobobobobooobobobobobobooobobaoba
goooooobooobobobobobooobobobobooobooooooboobobo
goog

000000000ASCO00OO0DOOOOOOO4000500000000 30cm OO0 40cm
gboboooooooooboobobo 20em DOOOOOOOODOO 30em DODODOOO
gobgooboboo 2000000000

4 0000

O
g
obooono 20em DOOO0OODOOOOOOO0OODOOOOOO 30em OOOOO 70em OOOO
goboooobooobooogobooboooooooonD 30em DOODOOOOODOODOO
o0o020000000 40em 0O00DO0O000DOO0O0O0DOOOODOOO

SRS SO S SIS S | I S 19¢m

goog

g

oboboooooboobo 110 sem DOO0ODOOODODOOOOOOODOO 10 485ecm OO
goboommooogoboobobobooooooobooooooooooobooooooboooog
gboobooobooooobooooboboooooboo



S5em

4.85¢m

isem . fem 1 isc

S . . . . Scem

...............................

| AR N A e S
a7 | sem

...................................

acm| | 8cm

1.5em

gbgboboobooboobobobobooboobobobooboboboboooobaba
gobooood

7
/__/




4.1 0O0OO0OO0O0O0OO0

gobgoooobooooboobmoobooobobooboobobooboobooboo
gboooood
O

4.85e¢m

32cm
0 oooon
000oo0o0ooooooooooooooooooooooooooooooooooooooo
oono

4.2 0O0O0O0OO0OO0

oboboooobooobooooboooobboobooooboobooobooooboooobooOoooon
gboooogo
gboobooobooboboobooooboooobooooooooobooobobooboOooDbn
gboooooobooobooooobooobOooboooooooooooboooboooooboooooo
gboboooooboooooboooooboon
goobooooooobobobOoboobooobooooobobOobooDobDooobooooo
1.5mm O000O00O00OO0O0O0OCODOOOOOOOOOOOOOOOODOOOOOOOO0O0OO0
uobod mm O0O000O0O0O0O0O0O0O0OO0OOCOOOOODOOOOOOOOOOOOCOOOO0
goooog
gbobooooooobobobooboboobooooobobOobobOoboboboooboon
gbboobooooboooooooooboobooboooboooooooOon sem ODOODOOO
gbooooboooboobooooooooobooooooboooooooboboobooboboobooog
lopo0ooooooobooobooboooboooooooboobooboboooboooobooo
gbooooboboooogo
gboooboboobooboooboobooboooboboobooooobooooobooboOooDbn
gbooooboooobooobooooboooobboobooooooobboooobooOooboooobooo
gboooopoooboobooboooobooo
gboboooboooboboooobooobooboooobooobooboooooobooooooonn
gboooooooooooooooobOoooOobOooOOoobObOboOob0oboOooboOoooboOoooog
goooobooooooobobooobooboooooboooboooboobooobooonoobooog
gbobooooooooooboboooboboooooboooo
gboboooobooobooboboboboobobooboooooboobOobOobooboooboon
oboooobooooooobooooboobooooobon
obooooooo



5 U0

O
gooooooobol1gbobgoooooobooooooooooooboobobobpooog
gbboooooooooooooobOooobOoooboooobobOoobObOoobooboOooboog
gbooooooobooooboooboobooOoooobooobboobooooobobooOoooboooobooo
gbooooboooboobobooooo

gboboooooooboooboobooobobooooobooooooooooooboooboonDn
gboooobobooooboobooooboooobooboooon

6 UUOdbObUobobOoooooboa

g
oboboooooboooooboooobobooooobooooboobooonog

6.1 OUOgoooo

gobooooobooboobooooboooooooboobOobbOoboOoboOoobDOobOboOoDOobO
gboooobooboobooobooooobooooboooobooooboooboobooog

obooooboooboobooobooooobOoboooboobooobooooooboooboooooon
gobooboooooooboobooobooboboooobooobo0bboe DODOODOOOD ¢y O
gbobooobooobooobooooobooobobooobooboooooooooooooog
gbooobooobooooboobooobooboooobooobooboOoooboOoobooobooag
gbooooooboooboooboooboobooooboooooooboooboooooooobooo
gbooogooboooooooboo

6.2 DUOOOOOOO

200000000000 O0O0O0DOOOOOOODOO0OmMOObOObOOOOOOOOObOO0On
gbooooooooooo boobooooobooobooobbooboooooooobbooboog
gobooooooooboooooboooboooboobooobooobboobobooOobooOobooog
gooboo 0b0b00000ODO0ODObOOO0OOODODODODOD yOOOoooboboo
gbooobooobooobooobooooobooobooboobooooooboOooobooooboog
obooooog

gooobo20000b0oobooooboboooooobooooboooooboooobo
gbooboobooboooogoboooobooooboooob 20000000000D000
gboooobooooooboo

6.3 00U

gbobobobobobooboboboobobooobooboboboboboooban
gooooogbobooobobobobobooobobobobobobooooboobobo



gbooooobooobbobooooooboooooooooobooobooboboOoobooboog
gboooobobooobOobooooobooooboooonoon

6.4 U000

gbooboooooboobooobobobooooooboboboboboboooooboon
gboooao

6.5 0DOOOOODO

gbobooooooooOobobOommooboooooboobobooooooooboobooon
goooooooooooooooboobobooobooboboooobooobooooboooooo
gboooopoooboobooboooobooo

gboooobobooobooobobooboobooobooono

7 10000 004d

g
10000000000V 0000000000000 10000000000000000 400000
goboobooobobobooboooboooboboooboooboooDomboooboooOooog
goobooogobogoooooboglcobobooooooooooooooobooooooooog
gbooooboooboobooooboooboobooboobobooboobooo wcobobobooobooboaon
gbobooooowoooooboooobooobooboooooboooobooooooobon

8 ooy

g
gooboobooooboboooobobobobobooobobobooooboboobo
gboooobobooooobooo

10



